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everythingSts ↓ of

Sample Space 2
interest

subsets A=

Pr(A) =1ifall ver

onAllinequallylike
me

are frog

union AUDA or B cotics (or both)
complement A

l A is nottree.



↳hilitsRole A,B=2

Inclusion - Exclusion:

Pr (AuB) =4r (A) +PoCB) -B/AB)0.1
6.2 +0.7.0.1 0.2 -3

=0.

Not legal

&0P. (A) =0.2

Po(ArB)=0.3

Rule Pr (CoD) =po (c) +P(D) if(1D =0
0..2 0 - 3



itementMee-Pr(A)

penceBole

Pr (A-B) =Pr(A) - PrCAuB)



ChoralProbabitsare

Pr (A (B)
probability of A if

we know that's is true

Pr(A/B) =ARBL



B PrSA(B)

Pr (B)↑a
=PABL

Ar-> = -
2

=t =0

Pr (B) =0.5
Pr(A -1) =0.1

Pr(A) =0.3



Brain Teasey I coins, fair
->

B:at leastone coin heads

2p =SHT, TH, HHT

A = second coin heads

3()H3

Pr(A(B) =A) -

↓

(S15,TH, HH3/3



IiplicationRule
events A, B

Pr(A-B) =4B). Po(B)

PoCB). P.(A(B)
=ATD..**



:two-stage problems#Diagram
contain 5balls 51,2,3,4,53

↳5 ⑫④

step( choose I box (w/sqalpoob)
stepchoose I ball from box.

2 Pool I choose G?
-



-5) Step =(x)((5) ="6
1/2

***=4(3)=16An Red
-5 =(Yz(Y5) =16

12
② D

Dr(G)=Pr(0(G)↳*aGreen
· Pr(E)

④(z). (E) =(((z). (((z)
Pr(R) =1 =" =((u

P. (8) = Pr(* (0) ==



-unlingwithoutReplacement
1 box10 green balls
-

10 re balls

draw = bolls (w/ replace

Probability of I read balls?

R1 =event that ball I red

R2 =eventthat ball a red
Pr(R1) ===

40(M11R2) =P/12/RN.PoCRea5 - E =0 =



Pool of 3 rad balls uso replacement
10 red, 10 green

R1, R2, R3
Pr(B)rRz)=

4r(BNR)B3) =P(N3/BInBz)=o
↓/ · Pr(R1rR)

=. E =E =

a
=


